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1. Answer the ¢ -stions about the function f(z) graphed below.
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1. Answer the guestions about the function f(x) graphed below.
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2.  Find /3\/1—-1 dr Dy considering area.
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3. Write lim E 2 + — — as a definite integral. o
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1. Answer the questions about the function f(x) 1,1:1311(,(1 below. T

‘/_l:f(-’lf)rlu:=(f€&z(h%{g){.(-hmn2& 3+.—-Z o= —"f .

o3 % =7 " Y= f('r)
(b) fx)de = AU[) - AJQWV‘ :@ i == =
J0 -1;1 -+ '2/’1:/’? 2 3
(¢)  Suppose / 'Tf (x)dx =3. Find / ?f () da. =3
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2. Find / l5\/1-—.':."-’ d.r by considering arca. |
J | —
Y=y1-x% 55\] ”"de’( = Sg o Ax
-1 - |
_ 5. Lqa*
= 9 > -
— 'S'Tr
, 2
3. Write 'lgl;o Zlu(l-ﬁ--‘t—:\:)% as a definite integral.
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1. Answer the questions about the function f(x) graphed below.
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(¢) Suppose f(:::) dr = 10. Find / fx)da.
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2. Find \/1 — a2 dr by cousidering arca.
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3. Write "151010 Z —ok_% as a definite integral.
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